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UNIT 6 o o LESSON 1

AIM: REAL-LIFE PIECEWISE LINEAR FUNCTIONS

" "Now: Watch the video http://www.m;r:hley.e.r.éom/ ggA » aphingstories/graphingstories2.mov.
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More examples of piecewise linear graphs:

s X A
. kY ; % o—
v

Time 3-5
| nervals 5-00

E greeermmmevenee e ofenceneaan
>




1. Answer the following questions based on the piecewise function graph below.
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a) Describe a sfory that represents the gi'aph above. ’
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b) What is happemng in the story when the graph is 1ncreasmg, decreasmg, and constant over time?
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¢) What does it mean for one part of the graph to be steeper than another? -
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d) What was the average rate of change of the person’s elevation between time 0 minutes and 4 minutes?
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- Krom the August 2015 Regents:

_2. A driver leaves home for a business trip and drlves at a constant speed of 60 miles per hour for-2 hours.: Her car getsa flat
tire, and she spends 30 minutes changing the tire. She resumes driving and drives at 30 miles per hour for the remaining
one hour until she reaches her destination. On the set of axes below, draw a graph that models the driver’s dlstance from .
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3. Answer the followmg questlons based on the piecewise function graph below.
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a) Describe a story that represents the graph above.
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d) What was the average rate of change of the person’s
—elevation between time 4 seconds and 6 seconds?
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4. Below are two different graphs that represent popcorn at the movies. Describe what may have happened in each situation:
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